A NOTE ON λ-BERNOULLI NUMBERS OF THE SECOND KIND

DAE SAN KIM, TAEKYUN KIM, JONGKYUM KWON, AND HYUNSEOK LEE

ABSTRACT. In this paper, we study the λ -Bernoulli numbers of the second kind which are defined as an integral of the λ -analogue of the falling factorial sequence and express them in terms of the λ -Stirling numbers of the first kind. Then we investigate the generalized λ -Bernoulli numbers of the second kind given as a multiple integral on the unit cube and show, among other things, the generating function of those numbers can be expressed in term of the recently introduced poly-exponential function by Kim-Kim. Finally, we introduce the higher-order λ -Bernoulli numbers of the second kind, again given by another multiple integral on the unit cube, and show those numbers can be given by the degenerate Stirling numbers of the second.

1. Introduction

It was Carlitz who initiated the study of degenerate versions of Bernoulli and Euler numbers and obtained some interesting arithmetic and combinatorial properties on them. In recent years, the present authors, their colleagues and some other people have explored various degenerate versions of many special polynomials and numbers with their interests not only in arithmetic and combinatorial properties but also in certain symmetric identities, differential equations, umbral calculus and probability. They have been investigated by employing several different methods, such as generating functions, combinatorial methods, umbral calculus techniques, probability theory, *p*-adic analysis, differential equations, and so on. This line of studying degenerate versions is not just limited to polynomials but also can be extended to transcendental functions like gamma functions. Indeed, the authors studied the degenerate gamma functions and its related degenerate Laplace transforms in [12]. Overall, we may say that studying various degenerate versions of some polynomials are very interesting, fruitful and promising.

In this section, we will recall some necessary facts that will be used in the next section. Then, in the next section we will introduce the λ -Bernoulli numbers of the second kind, the generalized λ -Bernoulli numbers of the second kind and the higher-order λ -Bernoulli numbers of the second kind, all by means of certain integrals. We will obtain some basic results on those special numbers.

The Bernoulli numbers of the second kind are defined in Roman's book [25] as

(1)
$$\frac{t}{\log(1+t)} = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}.$$

From (1), we note that

(2)
$$\int_0^1 (1+t)^x dx = \frac{t}{\log(1+t)} = \sum_{n=0}^\infty b_n \frac{t^n}{n!}.$$

 $^{2010\, \}textit{Mathematics Subject Classification.}\ \ 11B68;\ 11B83;$

Key words and phrases. degenerate cosine-Euler polynomials; degenerate sine-Euler polynomials; degenerate cosine-Bernoulli polynomials; degenerate sine-polynomials; degenerate sine-polynomials.

By (2), we get

(3)
$$\int_0^1 \binom{x}{n} dx = \frac{b_n}{n!}, \quad (n \ge 0).$$

As is well known, the Bernoulli polynomials of order r are defined by

(4)
$$\left(\frac{t}{e^t - 1}\right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see } [1 - 27]).$$

When x = 0, $B_n^{(r)} = B_n^{(r)}(0)$ are called the Bernoulli numbers of order r. It is well known that

(5)
$$\left(\frac{t}{\log(1+t)}\right)^n (1+t)^{x-1} = \sum_{k=0}^{\infty} B_k^{(k-n+1)}(x) \frac{t^k}{k!}, \quad (\text{see } [25]).$$

From (1) and (5), we note that $b_n = B_n^{(n)}(1)$, $(n \ge 1)$.

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by

(6)
$$e_{\lambda}^{x}(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad e_{\lambda}(t) = e_{\lambda}^{1}(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see } [10, 11, 12]).$$

By using Taylor expansion, we easily get

(7)
$$e_{\lambda}^{x}(t) = \sum_{n=0}^{\infty} \frac{(x)_{n,\lambda}}{n!} t^{n}, \quad (\text{see } [13,14,15,16]),$$

where $(x)_{0,\lambda}=1,\ (x)_{n,\lambda}=x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda),\ (n\geq 1).$ Here, $(x)_{n,\lambda}$ are called the λ -analogue of the falling factorial sequence.

For $r \in \mathbb{N}$, the degenerate Bernoulli polynomials of order r are defined by Carlitz as

(8)
$$\left(\frac{t}{e_{\lambda}(t)-1}\right)^{r} e_{\lambda}^{x}(t) = \left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}\right)^{r} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(r)}(x) \frac{t^{n}}{n!}.$$

When x = 0, $\beta_{n,\lambda}^{(r)} = \beta_{n,\lambda}^{(r)}(0)$ are called the degenerate Bernoulli numbers of order r (see [3,4]). In particular, r = 1, $\beta_{n,\lambda} = \beta_{n,\lambda}^{(1)}$ are called the Carlitz's degenerate Bernoulli numbers.

Recently, Kim-Kim introduced the poly-exponential functions which are given by

(9)
$$Ei_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}, \quad (k \in \mathbb{Z}), \quad (\text{see } [10]).$$

Note that $Ei_1(x)=e^x-1$, $\lim_{\lambda\to 0}e_\lambda(x)=e^x$. From (8), we note that $\lim_{\lambda\to 0}\beta_{n,\lambda}^{(r)}(x)=B_n^{(r)}(x)$, $(n\ge 0)$. The Stirling numbers of the first kind are given by

(10)
$$(x)_n = \sum_{l=0}^n S_1(n,l)x^l, \quad (n \ge 0), \quad (\text{see } [10-27]).$$

As the inversion formula of (10), the Stirling numbers of the second kind are defined as

(11)
$$x^n = \sum_{l=0}^n S_2(n,l)(x)_l, \quad (n \ge 0), \quad (\text{see } [5-8]).$$

Recently, Kim introduced the degenerate Stirling numbers of the second kind defined by

(12)
$$(x)_{n,\lambda} = \sum_{k=0}^{n} S_{2,\lambda}(n,k)(x)_n, \quad (n \ge 0), \quad (\text{see } [13]).$$

On the other hand, the λ -Stirling numbers of the first kind are given by

(13)
$$(x)_{n,\lambda} = \sum_{k=0}^{n} S_{1,\lambda}(n,k) x^{k}, \quad (n \ge 0), \text{ (see [20])}.$$

Note that $\lim_{\lambda \to 0} S_{2,\lambda}(n,k) = S_2(n,k)$, $\lim_{\lambda \to 1} S_{1,\lambda}(n,k) = S_1(n,k)$. The λ -analogue of binomial coefficients are defined by

(14)
$${x \choose n}_{\lambda} = \frac{(x)_{n,\lambda}}{n!} = \frac{x(x-\lambda)\cdots(x-(n-1)\lambda)}{n!}, (n \ge 1), \quad {x \choose 0}_{\lambda} = 1$$

and

$$\binom{x}{n}_{\lambda} = 0$$
 if $n = -1, -2, -3, \dots$, (see [20]).

2. λ -Bernoulli numbers of second kind

As a λ -analogue of (3), we may consider the λ -Bernoulli numbers of the second kind given by the integral

(15)
$$\frac{b_{n,\lambda}}{n!} = \int_0^1 \binom{x}{n}_{\lambda} dx = \frac{1}{n!} \int_0^1 (x)_{n,\lambda} dx, \quad (n \ge 0).$$

From (15), we note that

(16)
$$\sum_{n=0}^{\infty} \frac{b_{n,\lambda}}{n!} t^n = \sum_{n=0}^{\infty} \int_0^1 \binom{x}{n}_{\lambda} dx t^n = \int_0^1 e_{\lambda}^x(t) dx = \frac{1}{\log(e_{\lambda(t)})} (e_{\lambda}(t) - 1).$$

Thus, by (16), we get the generating function for the λ -Bernoulli numbers of the second kind to be

(17)
$$\frac{1}{\log(e_{\lambda(t)})}(e_{\lambda}(t)-1) = \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!}.$$

Now, we observe that

(18)
$$\sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^{n}}{n!} = \frac{1}{\log(e_{\lambda}(t))} (e_{\lambda}(t) - 1) = \frac{1}{\log(e_{\lambda}(t))} (e^{\log(e_{\lambda}(t))} - 1)$$
$$= \sum_{m=1}^{\infty} \frac{\left(\log e_{\lambda}(t)\right)^{m-1}}{m!} = \sum_{m=0}^{\infty} \frac{1}{(m+1)!} \left(\log(e_{\lambda}(t))\right)^{m}$$
$$= \sum_{m=0}^{\infty} \frac{1}{m+1} \sum_{n=m}^{\infty} S_{1,\lambda}(n,m) \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} \frac{S_{1,\lambda}(n,m)}{m+1}\right) \frac{t^{n}}{n!}.$$

On the other hand.

(19)
$$\frac{1}{\log(e_{\lambda}(t))} (e_{\lambda}(t) - 1) = \frac{1}{t} \left(\frac{\lambda t}{\log(1 + \lambda t)} (1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)$$
$$= \frac{1}{t} \sum_{n=0}^{\infty} \left(B_n^{(n)} (\frac{1}{\lambda} + 1) - B_n^{(n)} (0) \right) \lambda^n \frac{t^n}{n!}$$
$$= \sum_{n=0}^{\infty} \frac{\left(B_{n+1}^{(n+1)} (\frac{1}{\lambda} + 1) - B_{n+1}^{(n+1)} (0) \right)}{n+1} \lambda^{n+1} \frac{t^n}{n!}$$

Therefore, by comparing the coefficients on the both sides of the (18), (19), we obtain the following theorem.

Theorem 1. For $n \ge 0$, we have

$$b_{n,\lambda} = \sum_{m=0}^{n} \frac{S_{1,\lambda}(n,m)}{m+1} = \frac{B_{n+1}^{(n+1)}(\frac{1}{\lambda}+1) - B_{n+1}^{(n+1)}(0)}{n+1} \lambda^{n+1}.$$

From (5), we note that

(20)
$$\left(\frac{t}{\log e_{\lambda}(t)}\right)^{n} e_{\lambda}^{\lambda(x-1)}(t) = \sum_{k=0}^{\infty} B_{k}^{(k-n+1)}(x) \lambda^{k} \frac{t^{k}}{k!}, \quad (n \ge 0).$$

Thus, by (20), we get

(21)
$$\frac{t}{\log e_{\lambda}(t)} = \sum_{k=0}^{\infty} B_k^{(k)}(1) \lambda^k \frac{t^k}{k!}.$$

On the other hand, by (17), we get

(22)
$$\frac{t}{\log e_{\lambda}(t)} = \frac{e_{\lambda}(t) - 1}{\log e_{\lambda}(t)} \frac{t}{e_{\lambda}(t) - 1} = \sum_{l=0}^{\infty} b_{l,\lambda} \frac{t^{l}}{l!} \sum_{m=0}^{\infty} \beta_{m,\lambda} \frac{t^{m}}{m!}$$
$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} \binom{n}{m} \beta_{m,\lambda} b_{n-m,\lambda} \right) \frac{t^{n}}{n!}.$$

Therefore, by (21) and (22), we obtain the following theorem.

Theorem 2. For $n \ge 0$, we have

$$\lambda^n B_n^{(n)}(1) = \sum_{m=0}^n \binom{n}{m} \beta_{m,\lambda} b_{n-m,\lambda}.$$

Letting $\lambda \to 0$ on both sides of Theorem 2, we have

$$\sum_{m=0}^{n} \binom{n}{m} \frac{B_m}{n-m+1} = \begin{cases} 1, & \text{if } n=0\\ 0 & \text{if } n>0 \end{cases}$$

Let n, k be integers with $n \ge 0$ and $k \ge 1$.

Then we consider the generalized λ -Bernoulli numbers of the second kind which are defined by the following multiple integrals on the unit cube

(23)
$$\int_0^1 \cdots \int_0^1 \binom{x_1 x_2 \cdots x_k}{n}_{\lambda} dx_1 \cdots dx_k = \frac{b_{n,\lambda}^{(k)}}{n!}.$$

From (23), we note that

(24)
$$\sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{t^n}{n!} = \sum_{n=0}^{\infty} \int_0^1 \cdots \int_0^1 \binom{x_1 \cdots x_k}{n}_{\lambda} dx_1 \cdots dx_k t^n$$
$$= \int_0^1 \cdots \int_0^1 e_{\lambda}^{x_1 x_2 \cdots x_k}(t) dx_1 dx_2 \cdots dx_k.$$

Thus, by (24), we get

(25)
$$\frac{\partial}{\partial x_1} e_{\lambda}^{x_1 x_2 \cdots x_k} = \log e_{\lambda}^{x_2 \cdots x_k} \cdot e_{\lambda}^{x_1 x_2 \cdots x_k}(t)$$

Thus, by (25), we have

(26)
$$e_{\lambda}^{x_1 x_2 \cdots x_k}(t) = \frac{\partial}{\partial x_1} \left[\frac{e_{\lambda}^{x_1 x_2 \cdots x_k}(t)}{\log e_{\lambda}^{x_2 \cdots x_k}(t)} \right].$$

From (26), we can derive the following equations

(27)
$$\int_{0}^{1} e_{\lambda}^{x_{1}x_{2}\cdots x_{k}}(t)dx_{1} = \frac{1}{\log e_{\lambda}^{x_{2}\cdots x_{k}}(t)} \left[e_{\lambda}^{x_{2}\cdots x_{k}}(t) - 1 \right]$$

$$= \frac{1}{x_{2}\cdots x_{k}\log e_{\lambda}(t)} \left(e^{x_{2}\cdots x_{k}\log(e_{\lambda}(t))} - 1 \right)$$

$$= \frac{1}{x_{2}\cdots x_{k}\log e_{\lambda}(t)} \sum_{m=1}^{\infty} \frac{\left(x_{2}x_{3}\cdots x_{k}\log e_{\lambda}(t) \right)^{m}}{(m-1)!m}$$

$$= \frac{1}{x_{2}\cdots x_{k}\log e_{\lambda}(t)} Ei_{1} \left(x_{2}x_{3}\cdots x_{k}\log e_{\lambda}(t) \right).$$

Thus, by (24) and (27), we get

(28)
$$\sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{x^n}{n!} = \int_0^1 \cdots \int_0^1 e_{\lambda}^{x_1 x_2 \cdots x_k}(t) dx_1 dx_2 \cdots dx_k$$

$$= \sum_{m=1}^{\infty} \frac{\left(\log e_{\lambda}(t)\right)^{m-1}}{(m-1)! m} \int_0^1 \cdots \int_0^1 x_2^{m-1} x_3^{m-1} \cdots x_k^{m-1} dx_1 \cdots dx_k$$

$$= \sum_{m=1}^{\infty} \frac{\left(\log e_{\lambda}(t)\right)^{m-1}}{(m-1)! m^k} = \frac{1}{\log e_{\lambda}(t)} Ei_k(\log e_{\lambda}(t)).$$

Therefore, we obtain the following generating function of the generalized λ -Bernoulli numbers of the second kind to be

(29)
$$\frac{1}{\log e_{\lambda}(t)} Ei_{k} \left(\log e_{\lambda}(t)\right) = \sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{t^{n}}{n!}.$$

From (13), we note that

(30)
$$\frac{1}{k!} \left(\log e_{\lambda}(t) \right)^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n,k) \frac{t^n}{n!}, \quad (k \ge 0).$$

By (29) and (30), we get

(31)
$$\sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{t^n}{n!} = \frac{1}{\log e_{\lambda}(t)} \sum_{m=1}^{\infty} \frac{\left(\log e_{\lambda}(t)\right)^m}{(m-1)!m^k} = \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \frac{1}{m!} \left(\log(e_{\lambda}(t))\right)^m$$
$$= \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \sum_{n=m}^{\infty} S_{1,\lambda}(n,m) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} \frac{1}{(m+1)^k} S_{1,\lambda}(n,m)\right) \frac{t^n}{n!}.$$

Now, we observe that

(32)
$$\frac{d}{dx}Ei_{k}(\log e_{\lambda}(x)) = \frac{d}{dx}\sum_{n=1}^{\infty} \frac{\left(\log(e_{\lambda}(x))\right)^{n}}{(n-1)!n^{k}}$$
$$= \frac{1}{(1+\lambda x)\log(e_{\lambda}(x))}\sum_{m=1}^{\infty} \frac{\left(\log(e_{\lambda}(x))\right)^{n}}{(n-1)!n^{k-1}}$$
$$= \frac{1}{(1+\lambda x)\log(e_{\lambda}(x))}Ei_{k-1}(\log e_{\lambda}(x))$$

From (32), we have

(33)
$$Ei_{k}(\log e_{\lambda}(x)) = \int_{0}^{x} \frac{1}{(1+\lambda t)\log(e_{\lambda}(t))} Ei_{k-1}(\log e_{\lambda}(t)) dt.$$

Thus, by (29) and (33), we get

(34)
$$\sum_{n=0}^{\infty} b_{n,\lambda}^{(2)} \frac{x^n}{n!} = \frac{1}{\log e_{\lambda}(x)} Ei_2(\log(e_{\lambda}(x)))$$
$$= \frac{1}{\log(e_{\lambda}(x))} \int_0^t \frac{1}{(1+\lambda t) \log(e_{\lambda}(t))} (e_{\lambda}(t) - 1) dt.$$

From (34), we note that

$$(35) \qquad \sum_{n=0}^{\infty} b_{n,\lambda}^{(2)} \frac{x^n}{n!} = \frac{1}{\log e_{\lambda}(x)} \int_0^x \frac{1}{(1+\lambda t) \log(e_{\lambda}(t))} (e_{\lambda}(t)-1) dt$$

$$= \frac{1}{\log(1+\lambda x)} \int_0^x \frac{1}{t} \frac{\lambda t}{\log(1+\lambda t)} ((1+\lambda t)^{\frac{1}{\lambda}-1} - (1+\lambda t)^{-1}) dt$$

$$= \frac{1}{\log(1+\lambda x)} \int_0^x \frac{1}{t} \sum_{n=1}^{\infty} (B_n^{(n)}(1/\lambda) - B_n^{(n)}(0)) \lambda^n \frac{t^n}{n!} dt$$

$$= \frac{1}{\log(1+\lambda x)} \sum_{n=0}^{\infty} \frac{B_{n+1}^{(n+1)}(1/\lambda) - B_{n+1}^{(n+1)}(0)}{(n+1)n!} \lambda^{n+1} \int_0^x t^n dt$$

$$= \sum_{n=0}^{\infty} \frac{B_{n+1}^{(n+1)}(1/\lambda) - B_{n+1}^{(n+1)}(0)}{(n+1)^2 n!} \lambda^n x^n \frac{\lambda x}{\log(1+\lambda x)}$$

$$= \sum_{n=0}^{\infty} \frac{B_{n+1}^{(n+1)}(1/\lambda) - B_{n+1}^{(n+1)}(0)}{(n+1)^2} \lambda^n \frac{x^n}{n!} \sum_{l=0}^{\infty} \lambda^l B_l^{(l)}(1) \frac{x^l}{l!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \frac{1}{(m+1)^2} (B_{m+1}^{(m+1)}(1/\lambda) - B_{m+1}^{(m+1)}(0)) \lambda^n B_{n-m}^{(n-m)}(1) \right) \frac{x^n}{n!}.$$

Therefore, by comparing the coefficients on the both sides of (35), we obtain the following theorem.

Theorem 3. For $n \ge 0$, we have

$$\frac{b_{n,\lambda}^{(2)}}{\lambda^n} = \sum_{m=0}^n \binom{n}{m} \frac{1}{(m+1)^2} \left(B_{m+1}^{(m+1)}(1/\lambda) - B_{m+1}^{(m+1)}(0) \right) B_{n-m}^{(n-m)}(1).$$

By replacing t by $\frac{1}{\lambda}(e^{\lambda x}-1)$ in (29), we get

(36)
$$\sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{\lambda^{-n}}{n!} (e^{\lambda t} - 1)^n = \frac{1}{t} E i_k(t).$$

From (36), we have

$$\sum_{m=0}^{\infty} \frac{t^{m}}{(m+1)^{k} m!} = \frac{1}{t} E i_{k}(t) = \sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \frac{\lambda^{-n}}{n!} (e^{\lambda t} - 1)^{n}$$

$$= \sum_{n=0}^{\infty} b_{n,\lambda}^{(k)} \lambda^{-n} \sum_{m=n}^{\infty} S_{2}(m,n) \lambda^{m} \frac{t^{m}}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{n=0}^{m} b_{n,\lambda}^{(k)} \lambda^{m-n} S_{2}(m,n) \right) \frac{t^{m}}{m!}.$$
(37)

Thus, by comparing the coefficients on the both sides of (37), we get the following equation. For $m \ge 0$, $k \in \mathbb{N}$, we have

$$\frac{1}{(m+1)^k} = \sum_{n=0}^m b_{n,\lambda}^{(k)} \lambda^{n-m} S_2(m,n).$$

3. Further Remark

As an additive version of (24), we consider the λ -Bernoulli numbers of the second of order r given by the following multiple integrals on the unit cube

(38)
$$\sum_{n=0}^{\infty} \hat{b}_{n,\lambda}^{(r)} \frac{t^n}{n!} = \underbrace{\int_0^1 \int_0^1 \cdots \int_0^1 e^{x_1 + x_2 + \cdots + x_r}_{\lambda}(t) dx_1 dx_2 \cdots dx_r}_{r. \text{ times}}.$$

Thus, by (38), we get

(39)
$$\left(\frac{1}{\log e_{\lambda}(t)}\right)^r \left(e_{\lambda}(t) - 1\right)^r = \sum_{n=0}^{\infty} \hat{b}_{n,\lambda}^{(r)} \frac{t^n}{n!}.$$

From (39), we note that

$$\left(\frac{1}{\log e_{\lambda}(t)}\right)^{r} \left(e_{\lambda}(t) - 1\right)^{r} = \frac{r!}{t^{r}} \left(\frac{t}{\log e_{\lambda}(t)}\right)^{r} \frac{1}{r!} \left(e_{\lambda}(t) - 1\right)^{r}.$$

By (12), we easily get

(41)
$$\frac{1}{r!} (e_{\lambda}(t) - 1)^{r} = \sum_{m=r}^{\infty} S_{2,\lambda}(m,r) \frac{t^{m}}{m!}, \quad (r \ge 0).$$

From (40) and (41), we can derive the following equation.

$$(42) \qquad \left(\frac{1}{\log e_{\lambda}(t)}\right)^{r} \left(e_{\lambda}(t)-1\right)^{r} = \frac{r!}{t^{r}} \sum_{l=0}^{\infty} \lambda^{l} B_{l}^{(l-r+1)}(1) \frac{t^{l}}{l!} \sum_{m=r}^{\infty} S_{2,\lambda}(m,r) \frac{t^{m}}{m!}$$

$$= \frac{r!}{t^{r}} \sum_{l=0}^{\infty} \lambda^{l} B_{l}^{(l-r+1)}(1) \frac{t^{l}}{l!} \sum_{m=0}^{\infty} S_{2,\lambda}(m+r,r) \frac{t^{m+r}}{(m+r)!}$$

$$= \sum_{l=0}^{\infty} \lambda^{l} B_{l}^{(l-r+1)}(1) \frac{t^{l}}{l!} \sum_{m=0}^{\infty} S_{2,\lambda}(m+r,r) \frac{m!r!}{(m+r)!} \frac{t^{m}}{m!}$$

$$= \sum_{l=0}^{\infty} \lambda^{l} B_{l}^{(l-r+1)}(1) \frac{t^{l}}{l!} \sum_{m=0}^{\infty} S_{2,\lambda}(m+r,r) \frac{1}{\binom{m+r}{r}} \frac{t^{m}}{m!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} \lambda^{n-m} \frac{\binom{n}{m}}{\binom{m+r}{r}} B_{n-m}^{(n-m-r+1)}(1) S_{2,\lambda}(m+r,r)\right) \frac{t^{n}}{n!}$$

Thus, by (39) and (42), we get (43)

$$\sum_{n=0}^{\infty} \hat{b}_{n,\lambda}^{(r)} \frac{t^n}{n!} = \frac{1}{\left(\log e_{\lambda}(t)\right)^r} \left(e_{\lambda}(t) - 1\right)^r = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \lambda^{n-m} \frac{\binom{n}{m}}{\binom{m+r}{m}} B_{n-m}^{(n-m-r+1)}(1) S_{2,\lambda}(m+r,r)\right) \frac{t^n}{n!}.$$

Therefore, by comparing the coefficients on both sides of (43), we obtain the following theorem.

Theorem 4. For $n \ge 0$, $r \in \mathbb{N}$, we have

$$\hat{b}_{n,\lambda}^{(r)} = \sum_{m=0}^{n} \lambda^{n-m} \frac{\binom{n}{m}}{\binom{m+r}{m}} B_{n-m}^{(n-m-r+1)}(1) S_{2,\lambda}(m+r,r).$$

Note that

(44)
$$\sum_{n=0}^{\infty} \lambda^{n} B_{n}^{(n-r+1)}(1) \frac{t^{n}}{n!} = \left(\frac{\lambda t}{\log(1+\lambda t)}\right)^{r} = \left(\frac{1}{\log e_{\lambda}(t)}\right)^{r} \left(e_{\lambda}(t)-1\right)^{r} \left(\frac{t}{e_{\lambda}(t)-1}\right)^{r}$$

$$= \sum_{l=0}^{\infty} \hat{b}_{l,\lambda}^{(r)} \frac{t^{l}}{l!} \sum_{m=0}^{\infty} \beta_{m,\lambda}^{(r)} \frac{t^{m}}{m!} = \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} \binom{n}{l} \hat{b}_{l,\lambda}^{(r)} \beta_{n-l,\lambda}^{(r)}\right) \frac{t^{n}}{n!}.$$

Therefore, by comparing the coefficients on both sides of (44), we obtain the following theorem.

Theorem 5. For integers n, r, with n > 0, r > 1, we have

(45)
$$\lambda^{n} B_{n}^{(n-r+1)}(1) = \sum_{l=0}^{n} {n \choose l} \hat{b}_{l,\lambda}^{(r)} \beta_{n-l,\lambda}^{(r)}.$$

4. Conclusion

As an λ -analogue of the Bernoulli numbers of the second kind and motivated by an integral representation of the generating function of those numbers, we introduced the λ -Bernoulli numbers of the second kind. Among other things, we expressed the λ -Bernoulli numbers of the second kind in terms of the λ -Stirling numbers of the first kind. Then, as a generalization of the λ -Bernoulli numbers of the second kind, we introduced the generalized λ -Bernoulli numbers of the second kind as a multiple integral on the unit cube. We observed that the generating function of those numbers can be expressed in terms of poly-exponential function and also of an iterated integral. Again, we showed that the generalized λ -Bernoulli numbers of the second kind can be expressed in terms of the λ -Stirling numbers of the first kind. Finally, we introduced the high-order λ -Bernoulli numbers of the second kind, as an additive version of the generalized λ -Bernoulli numbers of the second kind and by anther multiple integral on the unit cube. Then we obtained an expression of those numbers which involves the degenerate Stirling numbers of the second.

We would like to continue to study various degenrate versions of many special numbers and polynomais as one of research projects and to find possible applications in other disciplines like physics, science and engineering.

REFERENCES

- [1] Andrews, G. E.; Askey, R.; Roy, R. Special functions. Encyclopedia of Mathematics and its Applications, 71. Cambridge University Press, Cambridge, 1999. xvi+664 pp. ISBN: 0-521-62321-
- [2] Bayad, A. Modular properties of elliptic Bernoulli and Euler functions. Adv. Stud. Contemp. Math. (Kyungshang) 20 (2010), no. 3, 389–401
- [3] Carlitz, L. Degenerate Stirling, Bernoulli and Eulerian numbers. Utilitas Math. 15 (1979), 51-88.
- [4] Carlitz, L. A degenerate Staudt-Clausen theorem. Arch. Math. (Basel) 7 (1956), 28–33.
- [5] Dolgy, D. V.; Kim, T. Some explicit formulas of degenerate Stirling numbers associated with the degenerate special numbers and polynomials. Proc. Jangjeon Math. Soc. 21 (2018), no. 2, 309–317.
- [6] He, Y.; Kim, T. A higher-order convolution for Bernoulli polynomials of the second kind. Appl. Math. Comput. 324 (2018), 51–58.
- [7] Jeong, W.K. Some identities for degenerate cosine(sine)-Euler polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 1, 155–164
- [8] Khan, N.U.: Usman, T. A new class of Laguerre poly-Bernoulli numbers and polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 2, 229–241
- [9] Kim, D. S.; Kim, T. Higher-order Cauchy of the first kind and poly-Cauchy of the first kind mixed type polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 4, 621–636.
- [10] Kim, D. S.; Kim, T. A note on polyexponential and unipoly functions. Russ. J. Math. Phys. 26 (2019), no. 1, 40-49.
- [11] Kim, T; Kim, D. S. A note on new type degenerate Bernoulli numbers. Russ. J. Math. Phys.(accepted) :arXiv:2002.04520v1 [math.NT] 11 Feb 2020
- [12] Kim, T.; Kim, D. S. Degenerate Laplace transform and degenerate gamma function. Russ. J. Math. Phys. 24 (2017), no. 2, 241–248

- [13] Kim, T. A note on degenerate Stirling polynomials of the second kind. Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 319–331
- [14] Kim, T.; Kim, D. S.; Jang, G.-W.; Dolgy, D. V. Differential equations arising from the generating function of degenerate Bernoulli numbers of the second kind. Proc. Jangjeon Math. Soc. 21 (2018), no. 3, 421–442
- [15] Kim, T.; Kim, D. S.; Jang, L.-C.; Kwon, H.-I. Extended degenerate Stirling numbers of the second kind and extended degenerate Bell polynomials. Util. Math. 106 (2018), 11–21.
- [16] Kim, T. Degenerate Cauchy numbers and polynomials of the second kind. Adv. Stud. Contemp. Math. (Kyungshang) 7 (2017), no. 4, 441–449
- [17] Kim, D. S.; Kim, T. Some applications of degenerate poly-Bernoulli numbers and polynomials. Georgian Math. J. **26** (2019), no. 3, 415–421.
- [18] Kim, T.; Kim, D. S.; Jang, G.-W.; Kwon, J. Fourier series of functions associated with poly-Bernoulli polynomials. J. Comput. Anal. Appl. 25 (2018), no. 7, 1307–1323.
- [19] Kim, D. S. Kim, T.; Jang, G.-W. A note on degenerate Stirling numbers of the first kind. Proc. Jangjeon Math. Soc. 21 (2018), no. 3, 393404.
- [20] Kim, T. λ-analogue of Stirling numbers of the first kind. Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 3, 423–429
- [21] Kim, T.; Yao, Y.; Kim, D. S.; Jang, G.-W. Degenerate r-Stirling numbers and r-Bell polynomials. Russ. J. Math. Phys. 25 (2018), no. 1, 44–58.
- [22] Lim, D.; Kwon, J. A note on poly-Daehee numbers and polynomials. Proc. Jangjeon Math. Soc. 19 (2016), no. 2, 219–224
- [23] Ozden, H.; Cangul, I. N.; Simsek, Y. *Remarks on q-Bernoulli numbers associated with Daehee numbers.* Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 1, 41–48
- [24] Park, J.-W.; Rim, S.-H. On the modified q-Bernoulli polynomials with weight. Proc. Jangjeon Math. Soc. 17 (2014), no. 2, 231–236
- [25] Roman, S. The umbral calculus. Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984. x+193 pp. ISBN: 0-12-594380-6
- [26] Simsek, Y. *Identities on the Changhee numbers and Apostol-type Daehee polynomials*. Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 2, 199–212
- [27] Srivastava, H. M.; Kurt, B.; Kurt, V. Identities and relations involving the modified degenerate Hermite-based Apostol-Bernoulli and Apostol-Euler polynomials. Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM 113 (2019), no. 2, 12991313.

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA(CORRESPONDING) *E-mail address*: dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA(CORRESPONDING E-mail address: tkkim@kw.ac.kr

DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU 52828, KOREA(CORRESPONDING)

E-mail address: mathkjk26@gnu.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA *E-mail address*: luciasconstant@gmail.com